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T BRI L S S B8 () IR S .

Mige 1 4R 1 Pkt m F0 7R9I9GIRIRE (AMSE)

T
v 10 20 30
m(Z)=5in(0.257Z)
m 7 m 7 m 7
10 0.1901 0.0142 0.0566 0.0070 0.0341 0.0053
20 0.0800 0.0075 0.0270 0.0045 0.0160 0.0037
30 0.0450 0.058 0.0175 0.0037 0.0109 0.0032
m(Z)=exp(-04(z-02)%)
m 7 n% 7 n 7
10 0.2013 0.0142 0.0567 0.0070 0.0341 0.0053
20 0.0799 0.0075 0.0270 0.0045 0.0160 0.0037
30 0.0449 0.0058 0.0175 0.0037 0.0109 0.0032
m(Z) zlog(Zz +1)
m 7 m 7 m 7
10 0.1898 0.0142 0.0566 0.0070 00340 0.0053
20 0.0798 0.0075 0.0271 0.0045 0.0160 0.0037
30 0.0449 0.0058 0.0175 0.0037 0.0108 0.0032
m(Z)=2>+03Z
) 7 i 7 i 7
10 0.2062 0.0143 0.0586 0.0070 0.0350 0.0053
20 0.0814 0.0075 0.0285 0.0045 0.0175 0.0037
30 0.0461 0.0058 0.0191 0.0037 0.0120 0.0032
Mizk 2 =MURBIERREHARTH AMSE 48R (m(Z)=sin(0257Z))
T 10 20 30
N=10
T B4 [ 200 R K50 2R BT B A Y 0.0525 0.0315 0.0169
[i] 7 250 S A A 2 0.0847 0.0667 0.0588
1B 458 RIS 1Y 0.5308 0.2543 0.1677
N=20
HE B 58 BN B AR B AR A 0.0513 0.0162 0.0086
] 7 254 T AR A Y 0.0711 0.0581 0.0541
LG FBE AR R 0.4967 0.2442 0.1653
N =30
HE B 58 0N B R B AR A 0.0307 0.0121 0.0062
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[it] 7 280 A A 2 0.0617 0.0558 0.0541
A& 458748 ZR AR AS 1Y 0.5134 0.2439 0.1597
Mk 3 188l 2 h#ERMETTE m 1 7 BIHEIRIRZE (AMSE)
T
10 20 30
N
b =05, by=0H
mn 7 m 7 m 7
10 0.1903 0.0142 0.0566 0.0070 0.0341 0.0053
20 0.0800 0.0075 0.0271 0.0045 0.0160 0.0037
30 0.0451 0.0058 0.0175 0.0037 0.0109 0.0032
b =0, b=05
m / m / m /
10 0.1898 0.0142 0.0566 0.0070 0.0342 0.0053
20 0.0802 0.0075 0.0271 0.0045 0.0160 0.0037
30 0.0450 0.0058 0.0175 0.0037 0.0109 0.0032
Mk 4 183003 hEERMETTE m 1 7 BHHEIRIRZE (AMSE)
T
10 20 30
N
X, =075X;,1+&,
m 7 m 7 m 7
10 0.1882 0.0158 0. 0469 0.0078 0. 0280 0.0058
20 0.0668 0.0079 0.0229 0.0048 0.0138 0.0039
30 0.0404 0.0059 0.0150 0.0038 0. 0076 0.0032
Xy =09X;,,1+&
m f m / m /
10 0.1684 0.0185 0.0358 0.0088 0.0215 0.0068
20 0.0567 0.0085 0.0178 0.0049 0.0109 0.0041
30 0.0349 0.0061 0.0119 0.0039 0.0074 0.0033
Mz 5 4 hEERMETTE m 1 7 BHHEIRIRZE (AMSE)
T
10 20 30
N
Gaussian 1%
m 7 m 7 m 7
10 0.0702 0.0134 0.0312 0.0083 0.0205 0.0069
20 0.0322 0.0085 0.0160 0.0063 0.0102 0.0057
30 0.0222 0.0073 0.0104 0.0056 0.0041 0.0031

Exponential 1%
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m / m / m /
10 0.0604 0.0132 0.0291 0.0082 0.0184 0.0069
20 0.0286 0.0084 0.0146 0.0063 0.0094 0.0056
30 0.0197 0.0070 0.0096 0.0056 0.0068 0.0051
B 51
m f m f m f
10 0.1707 0.0149 0.0517 0.0082 0.0315 0.0064
20 0.0687 0.0087 0.0251 0.0059 0.0152 0.0050
30 0.0409 0.0072 0.0047 0.0017 0.0032 0.0015
MiZk 6 1RHL 5 FEIBETTE m M 7 HFIRE (AMSE)
T
10 20 30
N
9 =057, +1;
m / m / m /
10 0.2071 0.0246 0.0600 0.0116 0.0342 0.0084
20 0.0749 0.0130 0.0283 0.0077 0.0181 0.0058
30 0.0435 0.0094 0.0190 0.0053 0.0108 0.0049
B =0.5 1, + 7y
i i G i G j
10 0.1956 0.0325 0.0580 0.0161 0.0334 0.0117
20 0.0727 0.0190 0.0278 0.0112 0.0178 0.0082
30 0.0436 0.0138 0.0190 0.0082 0.0113 0.0062
Mizk 7 ZHEREREIREATH AMSE 855 (0, =057y, +1;,i =11, =0)
T 10 20 30
N =10
T A 8] 5 25 R R T AR Y 0.0166 0.0178 0.0062
[i] 7 280 A A 2 0.0172 0.0188 0.0117
145048 R AR A 1Y 0.0915 0.0465 0.0315
N=20
A 8] 5 5 R R BT AR B R 0.0136 0.0249 0.0189
[i] 7 280 S A A 2 0.0137 0.0581 0.0583
1B 4548 RIS 1Y 0.0891 0.2271 0.1521
N =30
T R HUR B AR Y 0.0381 0.0173 0.0121
] 5 254 2 T AR A Y 0.0600 0.0571 0.0523
FERAE RATAR AR T 0.4587 0.2396 0.1567

Mizk 8 ZHERIEREIREATH AMSE 455 (Mfi=05, , +7,.i=1,4=0)
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T 10 20 30
N=10
B 58 BUN B AR B AR A 0.0174 0.0111 0.0065
] 7 2940 o ] A A 7Y 0.0175 0.0129 0.0118
1B G R BB 0.0943 0.0478 0.0318
N=20
B 58 0N B AR B AR A 0.0132 0.0053 0.0034
] 7 2940 o ] A A 7Y 0.0135 0.0114 0.0509
LG R BB 0.0901 0.0448 0.0988
N =30
B 58 BN B R B AR A 0.0078 0.0345 0.0120
] 7 294 o ] A A 7Y 0.0119 0.0702 0.0523
A& A8 Z BB 0.0942 0.1882 0.1600
MiZ 9 #82H 6 PEIBMEITEMINGIRZE (AMSE)
T
10 20 30
N
o iy i iy o iy
10 0.1455 0.1571 0.0233 0.0171 0.0143 0.0111
20 0.0410 0.0413 0.0199 0.0185 0.0135 0.0123
30 0.0280 0.0262 0.0135 0.0122 0.0089 0.0078
/ / /
10 0.1270 0.0089 0.0062
20 0.0217 0.0068 0.0052
30 0.0092 0.0053 0.0044
Mgk 10 1R300 7 e R AR E R E SE ST ABREETR K HIT 2RI HIRE (AMSE)
T 10 20 30
N =10
35 [ T8 280N B A 2R B TR A 1Y 0.0733 0.0273 0.0151
fE 570 FAY 0.2177 0.0898 0.0481
N =20
A ] 5 200N B B AR B AR Y 0.0479 0.0145 0.0117
1L G578 R 0.2563 0.1102 0.0531
N =30
A ] 5 200N B B AR B AR Y 0.0225 0.0157 0.0055
LG8 R 0.2339 0.1024 0.0423




